EARAZROREIERT — 2 N— XBISY —F 20205E9817H (K) 12@IF95I3H

IVl 70— )LC (FREBE) YF%R2KOP ‘(ﬂi} 2 ‘[5&%&#&1] — | % @) 16000 =

[A~&£] 17 :2,500,000 § ~ 23 :700,000 § 37 :525,000 9 ~ 43 :350,000 ™ 5 :175,000 M

& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
N . 2 | ATEEH 1:42.3 6-6-3-1 |39.5| — 6 440 | NIBFEA (AtimsE)
1(8|10| 7V—HIEF=— # 54.0 fai © | 0 A=y K
R:TF4=TTVI7 B:Z/3I—-Fv> HE ik
S 2 | BEXK 1:42.5 8-7-5-3 | 39.4| — 2 456 | EEEE] (AtiEE)
2055 | T—TK—2 E 54.0 1 o) |EEMR =
R:8— RMLRIIL B:TrILs51Y (B) #A—-KL—va>AET7 7
SIS B o2 | REEsSE 1:42.6 5-4-1-1 | 40.2| — 4 470 | BH2E (dbiEE)
N - AEZLE 54.0 (/2 Loy | ) xrOyh77- 4
L:hY/ RI47T BEXRI K= IR
=SS s B2 | Bt 1:42.6 3-4-7-6 |39.5| — 5 450 | FEEF (ALimiE)
4 3|\LTATTI 54.0 (%) ) | ETELE -
R:7VA-—Y BiLEZU-T B/E77—L
S s 2 | BIEpHEE 1:42.7 9-9-8-4 [39.2| — 3 474 | AIIFEH (LEE)
5/7/g| BV /F—=-2 v 54.0 (2 E) (+20) | FFAX -
Likyd—GU<I B:T7E-ILESLb HhX 4y K
—: s 2 | RNERA 1:43.7 2-2-1-4 |41.3| — 1 492 | AJIIFEE (biEE)
6 4| X=X AT47 54.0 (5) o) #) 73‘/"“%*%
LHIRTT5ZX B:RKY—LTr—F2Z biYatse ]
_ o2 | BT 1:44.0 10-10-10-8 | 40.0 | — 8 428 | BHZE (dbiE)
71101 | Ny hF—Jb 54.0 (1 1/2) (+o) | RAEEZ
R:YZZXE—3224— B:YvAZTHYH RAEHIS
= 8 = s 2 | DNEES 1:44.3 3-3-4-7 |41.4| — 7 450 |/NEFEE (dtimiE)
gl7l 7|71 —AT7LbT1— 54.0 (1 1/2) () | L=
R:bTLEUR BiTIRT TV 0 HEANTT— L
= N e AlllE : —7-9- — FERRL (Ew)
9 2 DIF 4 TIN—7 4 2 a% (1;{6.&6) 7-7-9-9 | 42.9 10 ?g? pal B8
R:VZAB—IZR&— B:XvAI)I1— =R E%5
5 B2 | WAREE 1:48.7 1-1-5-10 [46.0 | — 9 450 | BHEE (biEE)
10/8]9 | N FIEVYIY 54.0 (51%) () | CB) TRDHIS
RA—TRA A BHIITY aiutie)
® 1 —F—@EBIERL
13—74— 9,4,(3,7),6,10,2,5,8,1
2a=5"= 9,4,7,(3,6),10, (2,5),8,1
== (4,6),10,7, (5,9),3,8,2,1
AT =zF= (6,10),5, (4,8),3,7,1,2,9
[ N5
B 10 1,940 714K 5-10 930M e E 5-8 2,580 JEE 5-6-10 4,520/
B B 10 370M 6-10 1,120H B = 5-10 3,270H 3EE 10-5-6 49,100/
5 1609 5-6 410M B H 10-5 9,450
6 210M

ARICOVWTRDTEEERROODE. TR LI,




